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HINTS & SOLUTIONS

OB

flowers

For I —Since, there is no direct relation between element
flowers and grain. Hence, Conclusion | cannot be
concluded.

For Il — Since, there is no direct relation between
element fruits and vegetables. Hence, Conclusion Il
cannot be concluded.

GRSy

For | —Since, there is no direct relation between element
rice and diet therefore possibility case will hold true.
Hence, Conclusion | can be concluded.

For Il — Since, there is no direct relation between
element rice and pulses. Hence, Conclusion Il cannot be
concluded.

netflix

For | —Since there is no direct relation between element
film and prime therefore possibility case will hold true.
Hence, Conclusion | can be concluded.

For Il — Since all film is movie and all movie is netflix
therefore all film is netflix will hold true. Hence,
Conclusion Il can be concluded.

@ Qoo me Do)

For | —Since, there is no direct relation between element
cup and vessel. Hence, Conclusion | cannot be
concluded.
For Il — Since, there is a no direct relation between
element cup and vessel. Hence, Conclusion Il cannot be
concluded.
Since the elements are same and ‘all’ & ‘some not’ case
is.“mentioned. Therefore, “Either —Or” case will be
concluded

Qo )

For | =/ Since, some red is white and all red is blue
therefore some blue is white will hold true. Hence,
Conclusion | can be concluded.
For Il = Since, there is no direct relation between pink
and blue. Hence, Conclusion Il cannot be concluded.
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Southwest
V82 + 62 =10m
6+4=10m

6m

D

P sits fifth to the right of W and both of them do not sit
at any end of the row. Two persons sit between R and
W. V sits second to the left of R. One person sits
between U and V. T is not an immediate neighbor of R. Q
sits second to the right of T. S sits to the immediate left
of V. Immediate neighbors of V face opposite direction.
U and Q faces south. There are two possible cases

Casel
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Casell
u w v s r a P T

1 o O
NP N I A A

Now, Immediate neighbor of Q face opposite direction.
Not more than four people face south. This will eliminate
Case ll. So final arrangement will be

5
Five-572,358,132,794,518
Four-425,265,487,425
E sits third to the left of B. Two persons sit between F
and B. D sits to the immediate right of F. We got two
possibilities
Casel Case I

i \

|

D & —%
R

N B

Now, C faces outside. H is an immediate neighbor of C. G
sits second to the left of H.

Case | Casell

|
N

B

Now, A is not an immediate neighbor of D. This will
eliminate Case Il. The final arrangement will be
A

F 41\ E
[

D & L yc

I. P = C (False)
II. C < P (False)
I.H < W (True)
II. G = H (True)
I.Q < D (True)
II. C < A (False)

I.S = B (False)

II. F = E (False)

LG <N (True)

II.1 = L (False)
C sits third to the left of D. E is not an immediate neighbor
of D. C faces Q. One person sits between R and Q. B sits

second to the right of C. We got three possibilities —
Casel Case 2 Case 3

Bk D

c B
; facing
fadng o Rowt ||
ow 1
south ek | ]
H_H_< facing  Row?2 —
2 facing
facing Row north | |
R

north

facing  powy [

D
south | {
|
I

|
I
i facing ﬁD’WII
north
R Q
Now, P is not an immediate neighbor of Q. R is not an
immediate neighbor of P. This will eliminate Case 1 and
Case 2. S sits second to the right of T. So the final

arrangement will be —

A D B E
facing Row 1
south

facing Row2
north

P
34. (4)
36. (4)
(M N(-)

/\

((H=1{s) E(-)

(+)) =—K({-)
39.(3) 40. (4)
Let the number of students in two groups be x & y
~15x + 25y = 22(x + y)
=(25—-22)y=(22—-15)x
=3y =7x
=Sx:y=3:7
ATQ,
Ram's age = 29 + 5 = 34 years
=3x+2y=34 (1)
Also,x-y=3___ (2)
Solving (1) & (2],
x=8,y=5
required average age = w =19

Given
Mon + Tue + Wed + Thu
= 48
4
< 42°+ Tue + Wed + Thu = 192°

= Tue + Wed + Thu =150° ...(i)

AﬂdJ Tue+Wed+Thu+Fri =30

4
= 150° + Fri = 208° [from Eq. (i]]
= Fri = 58°

C.P. of mixture of tea
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According to law of allegation

tea 1 tea 2
5 30

30
11
teal 30 6

“teaz 25 5

%30 = 36kg

- Quantity of teal = ?

Let quantity of alloy of alluminium and zinc = 8 kg
And that of alluminium and copper = 13 kg
Let 1 kg of each was mixed

» weight of copper in this mixture of 2 kg

== B
=1XG=n kg

~ Weight of copper per kg = i kg

7=v15+3+24+6

(7)% = 450 + 225 + 1 =676
=126

i 62
=X 476 +36+ 12 =7 X —
7 100

2843 =7x 22
T 100
,_ 3100 _

62
18 23 330

— X — X —— =7
345 39 100
7=0.01

294 + 306-255=7+ 150
?7=195

Lxl—x—6=0
=>x-3x+2x—6=0
2x(x—3)+2(x—-3)=0
=2((x+2)(x-3)=0
=x=-2,3

ILy:=4

=Sy—4=0
=(y-2+2)=0
=y=2-2
L2x*+13x+21=0
=2x*47x+6x+21=0
=x(2x4+7)+3(2x+7)=0
2((x+3)2x+7)=0
Sx=-3-2
ILy*+6y+9=0

=y 4+3y4+3y4+9=0
=yy+3)+3(y+3)=0
=(y+3)yv+3)=0

=y =-=3

wyzx

53.(2)

L2x +3y =4
IL3x+2y=11

On (i) x3—(ii) x2
Xx=5y=-2

LX>y
Lx2—T7x+12=0
=>x’—4x—-3x+12=0
Sx(x—4)—3(x—4)=0
5(x—3)(x—4)=0
=x=3,4
ILy?—2y—3=0

=y’ —3y+y—-3=0
=2yly-3)+1(y-3)=0
=@+ -3)=0
2y=-13

x =2y
Lx?=289=x=+17
ILy!=4913=2y=17
LYy 22X

18000

380
18000

380

X100 =192

Girls in school B = X 40 xéx 3=750

Girls in school D = X 72 X X 13 = 3900

: _ 750

Required % = Sty

Or

Let total boys in all 6 school = 360x
o

So, girls in school B = f X 3=15x

Girls in school D = % X 13 =78x

Required % = % % 100
3
=191g
19 o ]
Let total boys in all six school be 360x
30x+54x

Required ratio = - =21:37

T2x+76x

18000
360

Girls in school A =
=50%15%3
=2250

><30><25><3

18000

Girls in school E = ——
360

=50x4x20
=4000

X 76 X = % 20
19

Boys in school B = % X 40 = 2000

Required sum = 2250 + 4000 + 2000 = 8250
Average of boys in school A,Cand D is

=4 18000
=3X (304+54+72) x e
=52 x50

=2600

Total girls in all six school
=32000 - 18000 = 14000

Girls in school C
=222 % 54 %= % 5=3375
360 4
Total girls in all school except school C
= 14000 - 3375=10,625

%th work can be done by Ravi in = zﬂ_- hrs

+ whole work completed by Ravi = ;— * 24—_

=18h

And,

Whole work completed by Hira in = %x 8=12h
18x12

~ Required time = ——=7.2h
18+12
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62. (3)

Rita's father's age =31 % 2 - 28
=34 yrs
- 100
Rita's age after two yr = Sa % (36)
=12 yr
- Rita's present age = 10 yr
~ Raju’s present age = (10 — 2) X % +2
=8yr
42,5x5—(44+36)+40+42

Correct average = -

_ 2145

5
=429

Percentage of people in other activities
50 100

=100 - (?-2-—4- 25)

=25%

w2506 — 450

~100% — == X 100

— 1800

~ Required answer = % X 1800

=300

(A's profit) : (B's profit) : (C's profit)

= (13,200 x 4 + 14400 x 8) : (14400 x 4 + 12000  8) : (18000 x 12)

=35:32:45

. total profit =

=Rs 28000

Female Senior citizen of age group (50 — 60) yrs

x 11250

35+32+45
45

3

S ¥ 2400 = 900

Female sentor citizen of age group (61 — 70) yrs
1

=— % 3200
4

=800
Required percentage = % X 100

=12.5% more
Required average = % X (_% X 3200 + % X 6000)

1
=—x 6400
2

=3200
Femaimng senior citizens

100
= (100 - T)% of 6000

=4000
4000

. Required percentage = T20072808 % 100

1

=—x100
2

=50%

Non—pensioner males

= (100 — 20)% rJfl—Fz of 4800
80

7
=——X -—X 4800
100 12

=2240
Required difference

5 3 3 1

= (~ X 2400 + = X 3200) - (— X 2400 + — X 3200)
8 % 8 4

= 1500 + 2400 — 900 ~ 800

=2200

77.(2)

78.(3)
79.(4)
80. (3)

So, 100x =Rs 1500

Letlength of train A= 7x

Length of train B = 11x

ATQ,
Ta+lle

[99'”"‘% SR

x=80m

Solength of train A=80 = 7 =560 m

Length of trainB =11 x 80 =880 m

Required difference = 800 - 560 = 320 m

Let Sandeep joined the business x months after Satish

ATQ
15,000%12 _ 9,000

20,000(12-x) 8,000

x=4

So Sandeep joined the business 4 month after Satish.
Let A does 100n units of work in one day

So C does 120n units of work in one day

And B does 75n units of work in one day

Total work = 120n x 45 units

120n%45
So, ‘X' =———— days.
_ 5400

(75n+100n)
= days
175 O

oL .
- 3

=30 § days
Let speed of A and B be 6x km/hr and 5x km/hr respectively
After 2 hours distance between A and B is = 2 (6x- 5x) km = 2x km
After 5 hours distance between A and B is = (2x + 3 X 6x) km = 20x km
and 20x = 100 km
x=5
Speed of A = 6x km/hr= 30 km/hr
2695

55

=49

Vi=

=7=2401

(7) = 15363 - 9604
? = 5759

?=49

?=5.367

?=236+160 =396




